
Compléter	
  la	
  frise	
  ci-­‐dessous	
  par	
  symétrie	
  axiale	
  :	
  
	
  

	
  
	
  
	
  
Tracer	
  les	
  axes	
  de	
  symétrie	
  de	
  cet	
  élément	
  de	
  la	
  coupole	
  de	
  Sarajevo	
  et	
  de	
  la	
  rosace	
  :	
  
	
  
	
   	
   	
   	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
	
  

	
  
Compléter	
  la	
  rosace	
  ci-­‐dessous	
  par	
  symétrie	
  axiale	
  en	
  suivant	
  les	
  consignes	
  à	
  l'oral	
  :	
  

	
  


